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*LWD�5DKPD�6DUL����������������� � 6LVWHP 3HQJHQGDOLDQ ,QWHUQDO 3HUVHGLDDQ %DKDQ�
%DNX .D\X 0DQLV 3DGD�37��6XPDWHUD�7URSLFDO�
6SLFHV

3HPELPELQJ 7XJDV $NKLU� � (UO\ 0XO\DQL� 6(�0�6L�$N

3HQHOLWLDQ� LQL� EHUWXMXDQ� �XQWXN� PHQJHWDKXL� DSDNDK� VLVWHP� SHQJHQGDOLDQ�
LQWHUQDO SHUVHGLDDQ EDKDQ EDNX SDGD� 37� 6XPDWHUD� 7URSLFDO 6SLFHV VHWD XQWXN�
PHQJHWDKXL HIHNWLILWDV SHODNVDQDDQ� SHQJHQGDOLDQ LQWHQDO SHUVHGLDDQ� EDKDQ� EDNX�
SDGD�37� 6XPDWHUD 7URSLFDO 6SLFHV� 3HQHOLWLDQ LQL PHUXSDNDQ SHQHOLWLDQ GHVNULSWLI�
GHQJDQ� PHQMHODVNDQ� GDQ� PHQMDEDUNDQ� PHQJHQDL� VLVWHP� SHQJHQGDOLDQ LQWHUQDO�
SHUVHGLDDQ EDKDQ EDNX SDGD 37� 6XPDWHUD 7URSLFDO 6SLFHV�

%HUGDVDUNDQ� KDVLO SHQHOLWLDQ�� GDSDW GLWDULN� NHVLPSXODQ \DLWX� SHODNVDQDDQ�
VLVWHP SHQJHQGDOLDQ LQWHUQDO SHUVHGLDDQ EDKDQ EDNX SDGD�37� 6XPDWHUD�7URSLFDO�
6SLFHV� EHOXP� GLODNXNDQ� GHQJDQ� EDLN� NDUHQD��VLIDW� PDWHULDO� ND\X� PDQLV� \DQJ�
PXGDK UXVDN SHUOX GL WLQMDX XODQJ�NHPEDOL VLVWHP SH\LPSDQDQQ\D ROHK SLKDN 37��
6XPDWHUD 7URSLFDO 6SLFHV VHKLQJJD WLGDN PHUXJLNDQ SHUXVDKDDQ


